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The Relationship of Division and Subtraction

1. Represent 56 = 8 = 7 using subtraction. Explain your reasoning.

2. Explainwhy 30 +x = 6isthesameas30 —x —x —x —x —x — x = 0. What is the value of x in this example?
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Build subtraction equations using the indicated equations.

Division Divisor Indicates the Size . What is
. . Tape Diagram
Equation of the Unit x,y,z?
1. | 24+x=4
2. | 36+x=6
3.1 28+y=7
4.1 30~y =5
5.1 16 +z=4
Division Divisor Indicates the . What is
. . Tape Diagram
Equation Number of Units x,y,2z?
1. | 24+x=4
2. | 36+-x=6
3.| 28+-y=7
4.1 30+y=5
5.1 16+-z=4
. This work is licensed under a
® 2014 Commian Cofe Ing. Some ights Tesetved. commoncore.org (cc) Creative Commons Attribution-NonCommercial-ShareAlike 3.0 Unported License.



1. Represent 56 + 8 = 7 using subtraction. Explain your reasoning.
56 -7-7-7-7-7-7-"7-17 =0 because
56 -7=49;49-7=42;42—-7=35;35-7=28;28-7=21;21-7=14,14-7=7;7-7=0.
OR
56 —-8—-8-8-8-8-—8-—8=0because
56 -8=48; 48—-8=40; 40-8=32; 32-8=24;24-8=16; 16 —-8=8;8—-8=0.

2. Explainwhy 30 +~ x = 6isthesameas 30 —x — x — x — x — x — x = 0. What is the value of x in this example?

30 -5 = 6,50 x = 5. When I subtract 5 from 30 six times, the result is zero. Division is a repeat operation of
subtraction.

Build subtraction equations using the indicated equations.

What
Divisi
Ms'fm Divisor Indicates the Size of the Unit Tape Diagram is
Equation
x,y,z?
11 T~ ] \J/“'_ T~ 1=
1. | 24+x=4 24— x—x—x—x=0 ol LA A e .y L x=6
24-x—x—x—x=0;x = 6 units in each group
i AT AT A FNATT T —
2. | 36+-x=6 36— x—x—x—-x—x—x=0 | L AL AN e AL ) xX=6

36-x-1-1-1-5-x=0;5= Gunits in each group

3 | 28+y=7|28-y-y-y-y-y-y-y=o | [LLCKLL XTI KT X T AT IXT T | 5=

28—y—y—y—y—y—y—y=0;y = 4units in each group

4, | 30+y=5 30-y-y-y-y-y=0

= ' e i "w( .y
5.| 16+z=4 16—-z—z—2z-2z=0 e - g S L~ LT~ 1 z=4
16 —z—z—z—z = 0;2 = 4 units in each group
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Division
Equation

1| zesx=a| 2a-a-a-a-smama=o (U DOTDTTDTTDAT T | <=6

24-4-4-4-4-4-4=0;x=6 groups

Divisor Indicates the Number of Units Tape Diagram is

= =

2. | 36+-x=6 36-6—-6—-6—-6—-6—-6=0 = = S S s = = x=6
36-6-6-6-6-6-6=0;x=6groups

3. | 28+y=7 28 —7 =T =T—7=0 g

28-7-7-7-7=0;y =4 groups

o|30ey=s| so-s-s-s-s-s-s=o | LLIDATTDELII DA XTI DA | 5=

30-5-5-5-5-5-5=0;y=6groups

— — == = — 5= —

e g ~
5.| 16+2z=4 16-4-4-4-4=0 [ | e il [l [ A D z=4
16-4—-4-4—-4=0;z= 4 groups
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